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3  (AE) // (BF) // (GD)4ABCDO  I J  

 BD = EF = 2cm ;  AB = 1cm   [AB]                                         [AD][BC] OIJ 

EG 6cm3cm  4cmO 
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a     و   b 
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ABC     AB = 4,5cm  و   D     C  A. 

1)   BCD     B 

= 𝐵𝐸   حٍث    [BD]  مه الضلع   E ابه الىقطة   (2   
2

3
 𝐵𝐷 

    F  فً وقطة    (CD)  ٌقطع    (BD) و العمودي  على    Eالمستقٍم المار مه   (3

أثبت  أن  -   أ 
𝐶𝐹

CD
 =   

2

3
  

 FD     ثم     CF   - ب 

4) O   [DF]   I GE 

(OI)  [DF] 

   


